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B | 3 | 2 E0]AHA) FIHHOME) S2(B)-(A)
HE 24 1,861,859,000 1,884,566,180 22,707,180
ME| 2 HH| 552,200,000 552,200,000 -
AHRH| 435,495,000 433,964,000 1,531,000
o1 74| =0 XA 2EHEEHS 379,493,920 384,503,630 5,009,710
AR =TI 7| 22gH| 9 2|9y 3,418,000 3,309,820 108,180
= ZH| ofH|, =8H| X =2 & 52,583,080 46,150,550 6,432,530
N el ] 3,500,000 3,250,000 250,000
[ A1 |xratz S 3,500,000 3,250,000 250,000
At 113,205,000 114,986,000 1,781,000
[Arets] [Z23% egu|@Arz, X2t 5 113,205,000 114,986,000 1,781,000
F AR x| 2 21,310,000 21,060,000 250,000
[REE [=xI52 ALAH| 21,310,000 21,060,000 250,000
ALZ| S XX 2 SARE EX|ZQIE 1,300,000 1,200,000 100,000
REE] [SARE =X ZQIE AL 1,300,000 1,200,000 100,000
717k e - 7,237,000 7,237,000
RERT (Al [RHb S - 7,237,000 7,237,000
A7 22,000,000 22,000,000 -
R AR | [ A48 | Rt S| 22,000,000 22,000,000 -
AE0|RUxt 45 HEY ALY 2,151,000 2,400,000 249,000
[Ar sl |Z=0l2ixt 45 HEY AH] 2,151,000 2,400,000 249,000
CtESI7IE RS2 X 3,200,000 3,192,000 8,000
[Arets] [CHE SIS RIS A1 AL | 3,200,000 3,192,000 8,000
MAlele 1,500,000 1,500,000 -
[Ar sl EEREEREL 1,500,000 1,500,000 -
CHEIVIE RS UWEX| 9,900,000 9,900,000 -
[Arets] [CHESPIER I E X o AH| 9,900,000 9,900,000 -
CHESIXHA Q1o 2 2 x| 16,000,000 16,000,000 -
[REE [CHE otxE A O O] L2 R| & AL H 16,000,000 16,000,000 -
Crstorg X RO 22 d(EZHE) 20,000,000 20,000,000 -
|Ar°*H| [cHEstolgxlgoig 2 mdl At 20,000,000 20,000,000 -
CRESIZIFEXHAX| (XS XM 7| X3HEX| ) 52,600,000 52,600,000 -
[REE [cresriEREx g S Aot 7| xstaR|g) 52,600,000 52,600,000 -
CtESZIEXHAX| 8l (ML S CHESIAIY W] EH-SH|) 51,526,000 51,520,000 6,000
[AretHl |cresrizraxIaE2S e ety as e s 51,526,000 51,520,000 6,000
CHRESIZIE XA Y] U KH 48 2R SAH|A 40,054,000 40,054,000 -
[REE [cresits xuers o xgye w20 Ay 40,054,000 40,054,000 -
YR AKX ALK 7| 2,456,000 2,456,000 -
[Arets] [HEDSRI=A HOIHH ALelH| 2,456,000 2,456,000 -
AEo|UXtHZ LT 1 ]) 15,500,000 15,500,000 -
[Ar sl |Z=012ixt o 2ztst ALlH| 15,500,000 15,500,000 -
8 dH4EEIS - 2,100,000 2,100,000
[Arett] [crestols msg - 2,100,000 2,100,000
S S]0tLHEE] 55,194,000 54,846,000 348,000
[AF sl |25 80tLHsE % ArH| 55,194,000 54,846,000 348,000
Olo| S & X| & AtY 974,168,000 974,168,000 -
[Arets] [otol= 2 X2 AtgiH] 974,168,000 974,168,000 -
Ofo| E 0] X274 M| - 10,440,000 10,440,000
[AF sl [otolg=0| AL} MH| - 10,440,000 10,440,000
SYEX| U] ALY 17,800,000 17,800,000 -
[Arets] [ S S RIREHRI QALY AL H 17,800,000 17,800,000 -
ZYUIZESE 232 - 3,393,180 3,393,180
[AF sl EEE e - 3,393,180 3,393,180
ez 3,000,000 3,000,000 -
sz X HXEZda 1,000,000 1,000,000 -
NE=Hda 2,000,000 2,000,000 -




